 Physics Spring Lab Wrap-up Notes

Force vs. Elongation(X)

Force applied to a spring is proportional to elongation(X)
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General equation: Hooke’s law    F = kx

Slope: k = Spring Constant

Y-int( Amount of force applied to the spring when the elongation(x) = 0

Can the slope change? Yes, by changing the type of spring

How does it relate to energy?

The longer the elongation the more force.
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Obviously energy is proportional to the area under the curve.



[image: image6.wmf]
or when x1 = 0
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Work

If area under F vs. X graph yields energy for a spring it must yield energy for and F vs. X graph.

Therefore, we have a new classification for energy that we call work.

For work to occur there must be certain criteria.

· A force must be applied to an object

· The object must go through a displacement

· The force must be parallel to the displacement

Work:  The product of the force applied to an object and the displacement that the object goes through.
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